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84 759
+ 25963

110 722
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A

Copy and complete.

QO 274 @ 3453

+ 1875 — 1947

© 48 @ 525
+1679 — 2340

© 5469 © 9491
+3537 — 6626

O 3795 @ 4106

+1648 — 1893

© 657 @ 7342

+2379 — 3587

4674 2 6530
2956 ~ 1745

. North Yorkshire has

an area of 8309 km?2.
South Yorkshire’s area
is 1560 kmZ2. How
‘much larger is the
more northerly county?

To add and subtract whole

B11 14101
92 513
-17 548
74 965

Copy and complete.

© 9756 @ 85144

+26 245 ~32375
© 56945 @ 32317
+ 27382 ~ 28698
© 37567 @ 64523
+ 21964 — 48549

© 4378 @Q 71431

+38.776 — 52485

© 25693 @ 9325

+ 15858 — 34593

O 63859 @ 46365

+ 16432 — 36398

@ During the year 32786
fiction and 18 259 non-
fiction books are bought
from a shop. How
many books are bought
altogether?

@ A warehouse has 63170

sacks of potatoes in
stock. 29 485 sacks are
dispatched. How many
sacks are left? 1

numbers using written methods.

C

Set out as in the example.
€@ 166594 + 93889
© 305737 + 299390
€ 578479 + 412791
O 243685 + 188556
© 459368 + 249767
@ 387846 + 316858

@ 424512 — 236678

© 343354 — 156759
€ 602635 — 236797
@ 833128 — 548199
@ 590243 — 496475
@ 911570 — 256992

@ A store has takings of
£639827 in a week.
During the next
week takings rise by
£275984. What are
the store’s takings in
the second week?

@ The population of
Longport is 726 540.
The population
of Bridgeford is
559856. How many
more people live
in Longport than

Bridgeford?



